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399 /* select which I/O devices to collect stats for */
400 static void
401 choose_i odevs(struct snapshot *ss, struct iodev_snapshot *iodevs,

402 struct iodev_filter *df)

403 {

404 struct iodev_snapshot *pos, *ppos, *tnp, *ptnp;

405 int nr_i odevs;

406 int nr_i odevs_ori g;

408 nr_iodevs = df ? df->if_max_i odevs : UNLI M TED_| ODEVS;

409 nr_iodevs_orig = nr_iodevs;

411 if (nr_iodevs == UNLI M TED_ | CDEVS)

412 nr |odevs = | NT_MAX;

414 /* add the full matches */

415 pos = iodevs;

416 whil e (pos && nr_iodevs) {

417 tnp = pos;

418 pos = pos->is_next;

420 if (!iodev_match(tnp, df))

421 conti nue; [* failed full match */

423 list_del (& odevs, tnp);

424 insert_iodev(ss, tnp);

426 1>

427 * Add all npxio paths associated with match above. Added
428 * paths don’t count against nr_iodevs.

429 1

430 if (strchr(tnmp->is_name, '.’') == NULL) {

431 ppos = iodevs;

432 while (ppos) {

433 ptnp = ppos;

434 ppos = ppos->i s_next;

436 if (!'iodev_path_match(tnp, ptnp))

437 conti nue; /* not an npxio path */
439 |'ist_del (& odevs, ptnp);

440 i nsert_i odev(ss, ptnp);

441 if (pos == ptnp)

442 pos = ppos;

443 }

444 }

446 nr_i odevs--;

447 }

449 /*

450 * |f we had a filter, and *nothing* passed the filter then we
451 * don't want to fill the remaining slots - it is just confusing
452 * if we don that, it nmakes it look like the filter code is broken.
453 */

454 if ((df->if_nr_pames == NULL) || (nr_iodevs != nr_iodevs_orig)) {
455 /* now insert any iodevs into the remaining slots */
456 pos = iodevs;

457 while (pos && nr_iodevs) {
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458 tnp = pos;

459 pos = pos->i s_next;

461 if (df->if_skip_floppy &&

461 if (df && df->if sklpfloppy&&
462 strncnp(tnp->is_nane, "fd", 2)
463 conti nue;

465 |'i st_del (& odevs, tnp);

466 insert_i odev(ss, tnp);

468 --nr_iodevs;

469 }

470 }

472 /* cI ear the unwanted ones */

473 pos = iodevs;

474 whi | e (pos) {

475 struct iodev_snapshot *tnp = pos;

476 pos = pos->is_next;

477 free _i odev(tnp);

478 }

479 }
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* ok kb ok

11 /* fromUCB 5.4 5/17/86 */
12 /* from SunGs 4.1, SID 1.31 */

14 | *
15 * Copyright (c) 2018, Joyent, Inc.
*/

18 #incl ude <stdio. h>
19 #include <stdlib. h>
20 #include <stdarg. h>
21 #include <ctype. h>
22 #include <unistd. h>
23 #include <menory. h>
24 #include <string.h>
25 #include <fcntl. h>
26 #include <errno. h>
27 #include <signal.h>
28 #include <val ues. h>
29 #include <poll.h>

30 #include <locale. h>

32 #include "statcomon. h"

34 char *cmdnane = "vnstat”;
35 int caught_cont = O;

37 static uint_t timestanp_fnt = NODATE;

39 static int hz;

40 static int pagesi ze;

41 static double etine;

42 static int lines = 1;

43 static int swflag = 0, pflag = 0;
44 static int suppress_state;

45 static long iter = 0;

46 static hrtime_t period_n = O;

47 static struct snapshot *ss;

49 struct iodev_filter df;

51 #define pgtok(a) ((a) * (pagesize >> 10))
52 #define denom(x) ((x) ? (x) : 1)
53 #define REPRINT 19

55 static void dovmst at s(struct snapshot *old, struct snapshot
56 static void printhdr(int);

57 static void dosun(struct sys_snapshot *ss);

58 static void doi ntr(struct snapshot *ss);

59 static void usage(voi d);

61 int

* Copyright (c) 1991, 2010, Oracle and/or its affiliates. Al rights reserved.
*
/

*new) ;
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62 main(int argc, char **argv)
63 {

64 struct snapshot *old = NULL;

65 enum snapshot _types types = SNAP_SYSTEM
66 int sumary = 0;

67 int intr = 0;

68 kstat_ctl _t *kc;

69 int forever = 0;

70 hrtime_t start_n;

71 int c;

73 (void) setlocal e(LC_ALL, "");

74 #if !defined( TEXT_DOVAI

75 #define TEXT_DOVAI N "SYS_TEST" /* Use this only if it weren't
76 #endi f

77 (voi d) textdomai n( TEXT_DOVAIN) ;

79 pagesi ze = sysconf (_SC_PAGESI ZE) ;

80 hz = sysconf(_SC CLK_TCK);

82 while ((c = getopt(argc, argv, "ipgsST:")) != EOF)
83 switch (c) {

84 case 'S':

85 swflag = !'swl ag;

86 br eak;

87 case 's’:

88 summary = 1;

89 br eak;

90 case 'i’:

91 intr = 1;

92 break;

93 case 'q:

94 suppress_state = 1;

95 br eak;

96 case 'p’:

97 pfl ag++; /* detailed paging info */
98 br eak;

99 case ' T :

100 if (optarg) {

101 if (*optarg == "u")

102 timestanp_fnm = UDATE;
103 else if (*optarg == 'd’)
104 timestanp_fnt = DDATE;
105 el se

106 usage();

107 } else {

108 usage();

109 }

110 br eak;

111 defaul t:

112 usage();

113 }

115 argc -= optind;

116 argv += optind;

118 /* consistency with iostat */

119 types | = SNAP_CPUS;

121 if (intr)

122 types | = SNAP_| NTERRUPTS;

123 if (lintr)

124 types | = SNAP_I CDEVS;

126 /* max to fit in less than 80 characters */

127 df . i f_max_i odevs = 4;

/* Shoul d be defined by cc -D */

*/
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df .if_al |l owed_types = | ODEV_DI SK;
df .if_nr_nanmes = O;
df .if_nanmes = safe_alloc(df.if_nax_iodevs * sizeof (char *));

(void) nenset (df.if_nanes, 0, df.if_max_iodevs * sizeof (char *));

while (argc > 0 & !isdigit(argv[0][0]) &&
df .if_nr_nanes < df.if_max_i odevs) {
df.if_nanes[df.if_nr_nanes] = *argyv;
df . i f _nr_names++;
argc--, argv++;

}
kc = open_kstat();

start_n = gethrtine();

ss = acquire_snapshot (kc, types, &df);

/* time, in seconds, since boot */
etime = ss->s_sys.ss_ticks / hz;

if (intr) {
dointr(ss);
free snapshot(ss)
exit(0);

if (summary) {
dosunt( &ss- >s_sys);
free_snapshot (ss);
exit(0);

}

if (argc > 0) {
long interval;
char *endptr;

errno = 0;
interval = strtol (argv[0], &endptr, 10);

if (errno >0 || *endptr !="\0" || interval <=0 ||
interval > MAXI NT)
usage();

period_n = (hrtine_t)interval *  NANOCSEC,
1f (period_n <= 0)
usage();
iter = MAXLONG
if (argc > 1) {
iter = strtol (argv[1], NULL, 10);

if (errno >0 || *endptr !'="\0" || iter <= 0)
usage();
} else
forever = 1;
if (argc > 2)

usage();
}
(voi d) sigset(SIGCONT, printhdr);
dovnstats(old, ss);
while (forever || --iter > 0) {
/* (void) po I (NULL, O, poll_interval); */

/* Have a kip */
sleep_until (&tart_n, period_n, forever, &caught_cont);

free_snapshot (ol d);
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val )

0);

194 old = ;

195 ss = acquire_snapshot (kc, types, &df);

197 if (!suppress_state)

198 snapshot _report_changes(ol d, ss);

200 /* if config changed, show stats from boot */
201 if (snapshot_has changed(old ss)) {

202 free_snapshot (ol d);

203 ol d = NULL;

204 }

206 dovnstats(old, ss);

207 }

209 free_snapshot (ol d);

210 free_snapshot (ss);

211 free(df.if_nanes);

212 (void) kstat_cl ose(kc)

213 return (0);

214 }

216 #define DELTA(v) (new>v - (old ? old->v : 0))

217 #define ADJ(n) ((adj <= 0) ? n: (adj >=n) ?21: n -

218 #define adjprintf(fnt, n, val) adj -=(n + 1) - prlntf(fr'rt ADJ(n),
220 static int adj; /* nunber of excess columms */

222 | * ARGSUSED*/

223 static void

224 show_di sk(void *v1, void *v2, void *d)

225 {

226 struct iodev_snapshot *old = (struct iodev_snapshot *)vl;
227 struct iodev_snapshot *new = (struct iodev_snapshot *)v2;
228 hrtime_t oldtime = new >is_crtineg;

229 doubl e hr_eti ng;

230 doubl e reads, wites;

228 if (new == NULL)

229 return;

232 if (old)

233 oldtime = ol d->i s_stats.w ast updat e;

234 hr_etime = new>is_stats.w astupdate - ol dtine;

235 if (hr_etime == 0.0

236 hr_etime = NANOSEC;

237 reads = new>is_stats.reads - (old ? old-> s _stats.reads : 0);
238 wites = new>is_stats.wites - (old ? old->s_stats.wites :
239 ) adjprintf(" %.0f", 2, (reads + wites) / hr_etime * NANOSEC);
240
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